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% EE239
jolution for Problem 6.2
Author: M. Fitz

" % Last modified: 6/11/02

%

clear all

close all

%

% Defining signal parameters
% TEp=l

numph=4;

theta=linspace(-pi,pi-2*pi/numph, numph) ;

numpts=1000;

freg=linspace(-2,2,numpts) ';
czf:l/sqrt(2)+l/sqrt(2).*exp(—j*pi*freq/Z*ones(1,numph)+j*ones(numpts,1)*theta);
figure(1)

plot (freqg, 20*1logl0(abs(czf)));

axis([-2 2 -50 10])
1egend('theta:wpi','thetaz—pi/Z','theta:O','theta=pi/2')

xlabel ('Normalized frequency, T/ D)

viabel (‘G e (f), dBY)



